MAIIRCY

COMPACT MULTI-FUNCTION
CAGE

SM-5092

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
170630




CAGE ASSEMBLY

@,(2 @x'l
©F (@x2
V\\ﬂl ! _g’
® O D

©IMPEX INC. 1 WWW.marcypro.com



o

(A4)x26

—

7\
8
\S=27

x20

mm
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

|||||]|||||||||’|||||||||||||||‘|||||]||||[||]|’||||||||||||||||||||||||||||1]|’|||||]||||||||||
o 1 iy 3 4 B ex

©IMPEX INC. 2 WWW.marcypro.com



@Dx2 = M10x 2 3/4° @x18 © 63/4"

x 4 [ M10x 2 1/2” G122 [ M10
(3x6 i— M10x 2 1/2"

©IMPEX INC. 3 WWW.marcypro.com



@
@rs

——=
©

M10x 2 3/4”

23/4”

M10

) —— )

—

c@2 0] o6 o o o o

00 9] o o

=3

©IMPEX INC.

WWW.Mmarcypro.com




©IMPEX INC. 5 WWW.marcypro.com



©IMPEX INC. 6 WWW.marcypro.com



BENCH ASSEMBLY

@) 1 @ < 49 1

@) = @
\

2

@ x2 x1 x4 @x']

“\0

N

20 x1 Q) x4

©IMPEX INC.

7 WWW.Mmarcypro.com




@ T A
@) x2
E T XMH
62)x2
[ o
83 x2
x8
QI D i
(2)x4 Bﬂ
il @x10
i ﬂ
89)x4 5#x 1

o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1

'|I|l“|l|l|lI"'Ill'|||I“l||"'|||'IlllIll'“"Ill||||||I|I|I‘|'|llll|l“|lll‘[“l'l'l'l'l'l"
0 1 v 3" 4" 5 ex

©IMPEX INC.

8 WWW.Mmarcypro.com




@~
@4

—m=
—m

M10x 2 3/8" @@x6 © 03/4"

M10x 2 1/2" @6 i M10

©IMPEX INC.

9 WWW.Mmarcypro.com




@3/4
M10

©
i

@5
@4

M10x 5 3/8
M10x 2 3/4

@2
@x2

WWW.Mmarcypro.com

10

©IMPEX INC.



@ 5/8”

© I

M8x 1 5/8”

]

&~

M8x 3/4

(—

WwWw.marcypro.com

11

©IMPEX INC.



©IMPEX INC. 12 WWW.marcypro.com



IMPEX® INC.
2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
WwWw.marcypro.com
support@impex-fitness.com

©IMPEX INC. 13 WWW.marcypro.com



http://www.impex-fitness.com/

